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Attempt all questions.
Use of simple calculator is allowed.
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1. (a) Explain the concept of time value of money. Why
* do individuals prefer present money?

TET WA T FIERON H G H9T | =RE

w4l FAAH qF T AT wew § 2 4

(b} XYZ Ltd. is considering two mutually e}g:cl%sig)e
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projects. The cash flows after taxes (CFAT) for

‘both the projects are as tollows:

Year Project A Project B
0 1,00,000 1,00,000
] 40,000 0
2 40,000 0
3 40,000 0
4 40,000 0
5 40,000 2,50,000

The required rate of return on these projects is
10%. Find out:

(i) NPV for both the projects
(ii) IRR for both the projects
(i) Which project would you prefer and why?

Xy7z folo oY oTaEt vy gfEeredl & fa=m
W ¥ W UvEE T%g varg e ufaEsed

azrﬁmfaf@a%;

ad af ST A af &= B
0 1,00,000 1,00,000
1 40,000 0
2 40,000 0
3 40,000 0
4 40,000 0
5 40,000 2,50,000

qfdrTaTst W sTwnfEd gt @ e% 10% R

AT FETC
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(b)
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(i) A sfEsAe & fag NPV
(i) AT afEsAre & faw IRR
(iii) foF faemT 1 s w0 ok w2 11
Or (31gar)
Why do we focus on cash flows rather than on

accounting profit while evaluating capital
budgeting decisions?

YSiTa asie frofal o wHa g9 e YA WO
R AW F 7 fF @ oy w2 4
ABC Ltd. has a machine with a book value of Rs.
5,00,000 and a remaining useful life of 5 years. If
sold today, it would, however, realise only Rs.
1,00,000. The company is planning to replace it
with a new machine which is more efficient and
would lead to a savings in cost amounting to Rs.
10,00,000 p.a. The rate of income tax applicable
to the company is 40% and it does not make any
investment if the yield is less than 12% p.a. The
cost of the new machine is Rs. 25,00,000.

Both the machines are subject to SLM method of
depreciation. The old machine shall have a zero
scrap value at the end of 5 years from now

whereas the new machine shall have a scrap value
of 5,00,000.

Advise whether the compafly should replace the
machine or not. Ignore capital gain tax.

ABC fde & W & w39 [&&. o0 W %o

500,000 T ot 3R ITEM SET 5 99 = on |
: P.T. O.
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2. (a)

(b)

4

uﬁ—:m&mmﬁmmmaﬁaso
1,00,0003‘|Tﬁ|aam=ﬁq$=ra°rrrsﬁ=wﬁﬁ$aqfa%ﬁ
e 2 ot fSmd %o 100,000 Sfa ¥ = AT
ﬁmaﬁaﬁﬁmmﬁ'ﬂnaﬁ@%l
asrqﬁmma:{aﬁam%%aﬁ?al’aaﬁa
12%qﬁraéﬁm€rﬁa:mﬁeﬁr§faﬁﬁmqﬁ
FT@ | T YA R AT ¥ 25,00,000 B | -

a‘lﬁwsﬁ?fﬁmazaftSLMfaﬁmanmf‘ra%n

s o ¥ afq W QA wRNA S e e A
T T T & G {eT ¥ 5,00,000 BV |

Wﬁmf&mﬁaﬁﬁmeﬁw
em‘iarfsqmqﬁnt{sﬁmxa:{aﬁm
TifT | 11

A company issues Rs. 10,00,000, 12% debentures
of Rs. 100 each at a premium of 10%. The
debentures are redeemable at par after the expiry
of 7 years. The company is in 35% tax bracket.
Calculate the cost of debt.

w & T %o 10,00,000 ¥ 129 T TS
Fo 100mmﬁlo%ﬁmmum—vﬁm
u‘raw7asfaaai—crifm%|mrn3s%m
fm 3 & F anrd S TR FHNT 4

Bronze Ltd. has the following capital structure:

Equity share capital (10,000 shares of Rs. 100
each) — 10,00,000

9% Preference capital— 3,00,000



()

(b)

12% Debentures— 7,00,000
10% Term loan— 10,00,000

The equity shares are currently having a market
price of Rs. 200 and the company declared a
dividend of Rs. 20 per share for the next year.
The dividend growth rate is 5% p.a. Tax rate
applicable to the company is 50%. Calculate
WACC using book value weights.

a9 fdo o gt gien Frfafed @

Far s gSt (10,000 HW @ Rs. 100 F&F)

10,00,000

9% AfemE gsii— 3,00,000

12% F-93— 7,00,000

10% et &si—10,00,000

quaT sy 1 adAF SR qed %o 200 ® R

SR Y o a¥ ¥ faw enwiy To 20 =fud

fer 3 wwiw § sifwgfs R 5% Wi ad 2

TR 8 W H W 50% ¥ [EE T W &

AT TR WACC &t T0FHT o | 11
Or (gan)

“Market value weights are superior to book value

weights while calculating WACC.” Comment,
with suitable reasons.

“STHR e IR TR e R ¥ S 217 ST
HIOT Wiea feoquit e | 4
Gold Ltd. has assets worth Rs. 40,00,000 that
have been financed by Rs. 20,00,000 of equity

shares (of 100 each), retained earnings of Rs.
‘ P.T. O.
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3. (a)

(&)

6

10,00,000 and the balance by 8% debt. For the
year ending 31-3-2016 the company’s EBIT was
Rs. 10,00,000. Gold Ltd. is in 50% tax bracket.
The market value of equity is however Rs. 230.
Calculate WACC using market value weights and
book value weights.

freg fdo % UMW Fo 40,00,000 FH FHTAH g
SifE fadeT §20,00,000 (&% To 100),
wfqenfia 3T (Retained Earning) %o 10,00,000
3t 99 8% FH T 31.3.2016 = HE a¥ &
fRY 3132016 1 WA ® EBIT o
10,00,000 | TeE fio 50% H HSH A 21 qwa
1 SR e Fo 230 & |

mﬂ:gawaﬁtwt@wé:mm
WACC @ TR e | 11

Distinguish between operating leverage ‘and
financial leverage.

eTer ehaR 3R fcha datst F SR RS 1 4
XYZ Ltd. is evaluating two financing plans, A
and B. EBIT is 25% of investment. Corporate tax
is 40%. Which financial plan should be chosen if
the firm wants to maximise the rate of return on
equity capital? The relevant data about both the
plans are: :

Plan A Plan B

Debentures 8,00,000 @ 10% 4,00,000 @ 12%
15% Preference shares 2,000 @ 100 4,000 @ 100
Equity shares 10,000 @ 100 12,00¢ @ 109
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(i) Determine at what level of EBIT the

company would be indifferent between these
two plans.

(ii) What would be the EPS under both these
plans if the company is expecting an EBIT of
Rs. 10,00,000 and is subject to 40% corporate
tax?

XYz fao @ faxts d@ismeli A @R B &
TediEt & W ? 1 EBIT ? 25% fafm@m =)
firma = 40% © | Al & gEar S W At @t
& fusray &G 9 A S fasia A &

e TR &
QT A AT B
OIS 8,00,000 @ 10% 4,00,000 @ 12%
15% SAfam ofer  |2,000 @ 100 4,000 @ 100
gt 3 10,000 @ 100 12,000 @ 100
(i) EBIT & f® R W & A1 Ares ®
3T wIt ?

(ii) af¢ FW EBIT %o 10,00,000 F RN &
A 3 A Al ¥ Eps ¥ oh afe
frmfta =t = 3 40% B 7 1

Or (319T)
(a) What are the various factors relevant in deter-
mining the capital structure?

P.T. O
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(b)

8

tﬁtﬁ%é;ﬁaﬁmézﬁﬁmqmﬁﬁmw
T2 ‘ 4
Calculate the degree of operating leverage,
degree of financial leverage and the degree of

combined leverage for all the three firms. Also
comment on the result.

FirmA Fim B Fim C
Output (units) 3,00,000 {75,000 5,00,000
Fixed cost 3,50,000 |7,00,000 75,000
Variable cost per unit |1 1-5 0-10
Selling price per unit 3 25 0-50
Interest charges 25,000 (40,000 J

A9 wuf &t W shats  (Operating
Leverage), fadid sftats (Financial Leverage)
qgr HIh #fiasl (Combined Leverage) Ol
SHfr | TR T ol H | 11

% A| ®iB | WHC
frfq (gFmEal) 3,00,000 (75,000  |5,00,000
T A 3,50,000 |7,00,000 {75,000
sfa g 9 @od |1 1-5 0-10
afa E'EFI'§ fasa 0 3 25 0-50
TS TR 25,000 |40,000

4. (a)' What is an optimum dividend policy as per

Walter’s model?

Wqﬁa%mwmwmﬂﬁrw%u
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(b) Following are the details for two companies, A
and B, which are identical in all respects except
that company B is levered:

Company A Company B

EBIT 3,00,000 © 3,00,000
Market value of debt @ 12-5% Nil 12,00,000
Rate of return on equity K, _ 15% 16%

Explain using MM approach how an investor
holding 10% equity in company B will be better
off by switching to company A.

FA A R B A & &R e TR A ¥ Oy
Ffal g+t dedf ¥ wwedm @ faag o B

w0 B whed R |
W A WA B
EBIT 3,00,000  3,00,000
o @12:5% AWK eI T 12,00,000
Al W AE 2 Ke 15% 16%

MM fafg & 3udmm &0 g saed &5 =
fafrdiss o o9 &9 B 1 10% 99ar
wifte 2 a8 F0 S0 A F IR0 ¥ Ve D

S | 11
Or (31ge)

(a) How does Gordon’s model differ from Walter's
model? '

TET H Aew R F AlEH Y FA w27 4

(b) POR Ltd. belongs to a risk class for which the
appropriate capitalization is 20%. It currently has
P.T.O.
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5. (a)

10

50,000 equity shares selling at Rs. 100 each. The
firm is contemplating the declaration of a .
dividend of Rs. 10 per share at the end of the
current financial year. Using MM model find out
the price of the company’s share at the end of the
year:

(i) when dividend is declared

(ii) when dividend is not declared.

Also find out the number of equity shares to be
issued to meet an investment of 10,00,000
assuming a net income of 5,00,000 and also
assuming that the dividend is paid.

PQR fdo Ts SifEm am ¥ g1 gen ¢ 5w
fordt ST Yool 8 20% | §9h T FdAH &
50,000 TEAT Y & To 100 YAH | ®H fachra o
¥ g § To 10 TNWW FH WM F A R |
MM Tied & ST g a8 & g ¥ wl &
SY & qod S IO Ffa:

(i) v AEre S Awon # S S

(i) S SNHiw H EAEON T R T

10,00,000 3 fafrE & fad st & wa@ A

1 TAT Y, ¥g A 52 % YE A 5,00,000
3 sk eneiw o ¥ faEn war € | 1

Define safety stock. Discuss its role in
determination of re-order point.

YT (Safety) W% i TRl CHECECE



11 607

ARy fag & frufor & sgat qfww w1 +ft aofa
I - ) 4

(b) Following are the details related to PQR Ltd.:

Sales 30,000 units
Selling price per unit 40
Variable cost per unit 25
Total cost per unit 35
Credit period allowed _ 1 month
Desired rate of return on investment 25%

The company plans to liberalise its credit policy
by increasing the credit period from one month to
two months. It is estimated that due to the new
policy the sales would increase by 10%. Advise
whether the new policy be implemented or not.

PQR fHo ¥ wrag Frefafad =i

fasnt ‘ 30,000 31l
forar v wfa gord 40

¥ AT Jfq 3 25
%mqﬁg‘g 35

g aty @i Tk HIE

fafrim | swenfag auE @ 25%

Ft U wrE Aifa F1 TR SESE aTedt
2 or@ Ely % W ¥ QA UK a9 agIH | T]
IEE T Sar @ e R e F ownwm fn
10% =g AWM | gog Sifed & =t g =
Fraffaa frar s o 7= 11

P.T. O.
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(a)

(b)

(c)

12

Or (¥gan)
XYZ Ltd. requires 20,000 units of a certain item
every year. The purchase price per unit is 100.
The carrying cost is 25% and ordering cost is Rs.
100 per order. Find out EOQ and total inventory
cost at EOQ.

Ta% g TE AS W AMAT 20,000 FTHEEA
XYZ fdo # snavasal § 1 Wa wE F9 I
100 8 1 sEd T 25% ¥ ¥R IwW W @
yfq MW Fo 100 21 EOQ aﬁ'{ EOQ W %H&
WY @I S T I | 5
ABC Ltd. expects its cost of goods sold for
2015-16 to be 6,00,000. The expected operating
cycle is 90 days. The company wants tc have a
minpimum cash balance of 50,000 at all times.
What is the expected working capital
requirement? Assume a year of 360 days.

ABC fdo ad 2015-16 & fad smam &t @ &
famiga W& # W@ 6,00,000 WA dwfEa
e Wk 90 fem ] 1w wsft wmEr W o=gHan
T2 A Fo 50,000 T@A WEdt ¥ | wenfaw =l
Yt savaswar @ o2 Wi fE T oA A
360 f & 2 7 5

Distinguish between permanent and temporary
working capital.

Tt i ot wre gSft § e #ie ) 5

5300



